1 3 1
=25 =t
3.1 o1
_4 3 12 12
9) S.T.2 tan™* (=3) = =+ tan™* (2)

Solution
We have tan™! (=3) — tan™! (_—4)
3

=> tan~! (2 :_;3) + tan™! G) ~tantx 4+ cot™lx = %
=> tan~! (1_—_69) + tan™! G)
=> tan~! G) + cot™! G) = g
10.)S.T2 tan~! (=3) = +§ =
Solution
Let sin_1% = 6=> % =sin@
We have tan~! [2 cos (2 sin~! %)] \e CO .U
=> ~112.cos(2 6)] Otesa

=> “1[2.(1 -2 sin?0)]
=> [2 (1—2 ! )R(Om N ol e

=> ta@’(ﬁﬂ e) _>Pa_ e

=> tan! [2 (2)] = tan (1) =

3 marks questions

4 4 4 12 _4 33
1) PT. cos'' = + cos™? = = cos™1 =
5 13 65
Solution
4 4 4 12
LHS.= cos ™' - 4+ cos™! =
5 13

=>cost (2.2 [1-2 [1-2
5 " 13 25 169



+
== tan_l <1 6 11

| N o
N Nlr—\
Nl [V
w
\/

Il

138+77
tan—l ( 7.22,6 )
1=

(M—ﬂ) _m 1

4) P.T. tan~! m — = cos Ix _ L <x <1

T4 2 T2

Solution

1
Put x=cos206=>20 cos lx=> 9=5 cos 1x

— tan-1 ( Vi+cos20 —V1-cos 260 )
o —V1+cos 260 +—+V1—cos 26

1
-—\/—ESXS1

V2 cos?2 O —V2sinZ 0 1
= -1 _ _1
tan (\/2 cosZ B +V2sinZ 0 ) => N cos20 <
=>0 <20 < _‘6 CO
— tan~! (cos 0—sin 9) (G‘@?

cos 6+sin O

tan=— tan@
=tan~! 4

1 +tan% tan0

= tan~! [tan (E —9)] =n1—0= (E L cos1 x)

4 4 2
5)P.T.cot™* 7+ cot™* 8+ cos 118 = cot™! 3
Solution

_ _ _ i1 i1 i1
We have cot™1 7 4+ cot™1 8+ cot™1 18 = tan 1—+ tan 15 + tan 1E

1

4
=tan~ ! ( )
1 —_

ool»—x

1 _ 4 /1
>+ tan !— |~ cot™lx = tan 1(—)
18 X

1
‘8

RN

\1|»-x
© =

(smce Xy = < 1)



